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Introduction

The Lake District is a rural area in North West England; it is located in the county of
Cumbria. Refer to the maps for further location information.

Lake District

national park ' 2

The areas of the Lake District we are focusing on are the town of Keswick and the
walk up to the peak of Cat Bells
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The size of the national park is 2,292Km2

It has a population of 42,239.

It became a national park in 1951.
There are many types of rock in the Lake District according to wikipedia some of the rocks
date back ‘500 million years’ and include limestone, sandstones, siltstones, mudst ones
and slate. The Lake District has one of the dampest climates in England. According to
wikipedia the average annual precipitation is over ‘2000mm’, this is mainly due to the relief
and northerly position. The Mean temperature ranges from ‘ 3 °C in January to around 15
°C in July’ says wikipedia this is relatively high for it’s latitude for example when compared
to Moscow which has the same latitude, ranges from -10°C to 19°C. In Fact The Lake
District is one of the rainiest areas in England, in 2005 there was extreme flooding in
Keswick.

Climate at Beckside Farm, Cumbria

Geology of the
LDNP
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ultimately depends.’” After a survey of the national park in 1994 the following conclusions
were drawn according to the LDNPA.
- ‘The Quality of the landscape and scenery is the reason why most people come to
the Lake District and is the factor most important to their visit.’
‘The high level of repeat visits to the park (80% of all visitors), both day visitors and
holidaymakers, has major implications for information delivery and interpretation’
‘To prevent environmental degradation, there must be recognition that there are
limits to the numbers of people and cars that area can hold.’
‘One opportunity to increase visitors s pending would be to encourage more visitors
to stay within the national park, rather than coming for day visits from home’
‘The highest component of visitor expenditure is shopping. Further extensive retail
outlets are unlikely in the national park, howeve r working with the local producers to
promote crafts and foods unique to the area should ensure a higher proportion of
visitor spending benefiting the local community.’

The Main aims of the LDNPA (Lake District National Park Authority), is to ensure that
the area is protected for generations ahead and look after the residents and tourists of
the area.

Tourists can cause many problems for areas including:

- Leaving rubbish in the towns and in protected areas making the areas less
attractive for tourists and for residents. And endangering wildlife in the area

- Tourists usually arrive in car causing noise and atmospheric pollution that can
permanently damage the area and the large disfiguring roads running through
what used to be a serene valley. Moreover touri sts often drive to attractions and
around the area once they have arrived instead of using the public transport
system.

- This also causes traffic congestion on the small country roads. In fact 90% of
visitors travel to the Lake District by car.

- Tourists usually only go to certain resorts at certain times so during winter months
in Keswick there it may be deserted and all shops may close meaning locals
have to travel further a field for shops causing more damage to the environment.

- Jobs made through tourism may only be seasonal as well.

- To link on to the point above during the high season the town can be so crowded
that you have to queue for a long time to buy groceries this can be extremely
irritating for locals.

- Tourism can increase house prices due to rich people from the cities buying
second homes and renovating them, increasing the prices. This means that
locals struggle to afford houses this can cause problems for the local economy.

Tourists also do have positive effects on an area

They bring money in to the area helping the local economy and local
business; it also provides a good method of diversification for farming.

New facilities and amenities will be built such as gyms and swimming pools
aimed for the tourists but can also be used by locals. Other examples are
airports and train stations.

Many Jobs will be made through tourism.

Tourist like to travel to areas with good entertainment, this is a benefit for
locals as well
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They help renovate and develop the area with new tourist buildings or
renovate derelict buildings replacing them with new complexes.

The effects section is paraphrased from:
GCSE Geography

Aspects of Lake District National Park enjoyed
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Footpath Erosion

Another theory of footpath erosion in the Lake District this is caused by ‘4 million visitors a
year’ walking on ‘6km’ of footpath. That according to Themes and issues causes the cycle
of footpath erosion in which vegetation is walked on by walkers the soil becomes
compacted and the vegetation dies leaving bare dry soil, The soil is then washed away by
heavy rainfall which results in the development of gullies or deeply cut channels, the actual
path becomes complicated to walk on and so the process begins again on a new piece of

Steges in Foolpath Erasien on a Fellalde

vegetation just to the side of the original footpath, and the cycle continues.
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The factors that cause footpath erosion according to Themes and issues are:
‘Recreational pressure the intensity of footpath use will vary according to the
attractiveness of the area and the seasonal, weekly and daily functions’

‘Slope Angle The greater the angle the more erosion will occur (particularly angles
greater than 18 degrees)’

‘Surface Water heavy rain or channelling of water can have strong erosive power’
‘Vegetation type some vegetation types are able to withstand trampling better than
others.’

‘Soil type certain soils are more prone to erosion (e.g. peat) and soil characteristics
can affect the rate of erosion (e.g. particle size, stoniness).’

‘Exposure to wind soils which are loosened can be blown or washed away more
easily.” Wind is often more powerful at higher altitudes.

‘Frost heave when water freezes within soil the soil particles expand pushing
upwards when the soil haws it is loosened and is easily eroded.’

The LDNPA separates these into physical and human factors. The physical being
‘angle of slope’, ‘soil depth’, ‘soil type’, ‘drainage’, ‘compaction’, ‘climate’, ‘vegetation
type’, length of growing season’ and ‘altitude and aspect of slope’ | then groups the
human features ‘visitor pressure’, ‘type of activity being carried out’, ‘pr oximity to car
parking and other facilities’, ‘popularity of route/walk’ and ‘winter use’
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Prevention Better Than Cure

Major erosion problems can be
prevented in the future by a
combination of good design, regular
mamtenance and managing the impact
of humans. Measures which can be

taken mnclude:

1. Constructing hard wearing, user-
friendly paths which are well
defined to prevent lateral
spreading/braiding

11

Ensuring effective water drainage.
Thus 1s fundamental to successful
path management. The placing of
strategic water breaks can offset the
escalation of more serious erosion.

Carrying out regular maintenance
tasks such as clearing water gullies,
removing gravel from pitched
surfaces and repairing minor
damage.

Reducing grazing pressures,
especially where heather and
bilberry communities are being
overgrazed, reducing the ability of
the ground to withstand trampling

by people.

Resting routes, 1.e. temporanly
changing the line of the path
particularly in the early stages of
eros1on.

Fertilising and reseeding which
may be used on 1ts own or n
conjunction with resting routes,

Fencing 1s an extremely sensitive
1ssue but can be used on 1ts own or
in conjunction with other methods,
making the dramatic recovery of
vegetation possible.

Directing people along a preferred
route using physical and
psychological barriers such as
walls, plants, stones, water etc.

Re-routing people away from areas
prone to erosion. This may be
difficult if the path has very ngid
boundaries or has been designated
as a Right of Way, but has been
used on the Brown Tongue Path to
Scafell.

. Educating mountain users: through

leaflets, talks and notices
explaining path erosion and asking
them to help mimimise damage by
keeping to hard routes.

Managing visitor numbers through
the limiting of car parking or re-
channelling visitor publicity to
areas less likely to suffer damage.

Geography Fieldwork

The diagram on the left shows how footpath erosion can

be managed effectively.

Diagrams from the LDNPA Education Footpath Erosion

Fact sheets



Oliver Simon Geography Fieldwork

Management

The Following are ways of managing footpath erosion; all of witch are used by the LDNPA
to control the effects of footpath erosion. The Photographs used below were taken by
myself on cat bells, so we no that the LDNP A uses all these things at cat bells.

1) Pitching —Large stones are used to make steps, the slope must be over 15 degrees, it is
labour intensive and expensive build

%

ort

2) Aggegéte‘;SmaIIvI(DarticIes of hard material usually loca | stone laid on the existing

surface, the slope must be less than 15 degrees this is a lot less labour intensive than
pitching therefore is much cheaper.
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3) Culverts- Drains across the path help to stop water flowing down a p ath therefore
minimising footpath eroson

water.

4) Zigzag paths —these reduce the gradient therefore less soil is eroded by water

5) Hand rails — Make the path obvious, and can block of areas for regeneration. These are
generally a short-term measure as they are not durable
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6) Stone Bordering- this makes the path more obvious and can minimise people walking
off the track.

10
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Level of Use

Vegetation Change

Soil Change

Path Surface Change

Low Level Use

Taller plants trampled down
allowing more light to
penetrate. An increase in
other species follows.

Soil structure starts to
deteriorate.

Narrow, covered with a variety of
plants and grasses.

Moderate Use

Trample resistant species
increase, others decrease.
Heather 1s more susceptible
to trampling than grasses, so
soon dies out. An overall
reduction in height and
amount of vegetation
(biomass) occurs,

Soil becomes compacted
s0 depth decreases. Water
cannot mfiltrate the firm
surface as well so moisture
content decreases. Soil
less good for plant growth.

Bare patches appear. The impact of
heavy raindrops (ramnsplash) starts to
wash out the soil. Puddles form as soil
now less porous. Path widens as
walkers avoid puddles and trample new
areas. In winter frost heave may help
break up the surface

High Level of Use

All but the most trample
resistant species die out.
Poor soil structure, upland
climate and continual
trampling prevent
re-growth.

Soil structure breaks down
as organism content 1s
reduced. Few roots left to
bind the soil. Soil becomes
sandier and 1s easily
washed away.

Heavy rain is channelled into hollows
and washes out sand eventually
producing deep gullies. The gullies
channel subsequent rainwater and are
further eroded and increase 1n size.
Worst areas are avoided by walkers so
new areas are trampled. Path becomes
very wide or parallel paths develop.

Key Terms

Word

Definition

National Park

‘An area that has been recognised for
its unique landscape qualities, wildlife
and cultural heritage’ Facts and Figures

LDNPA

Footpath erosion

When a footpath is eroded by walkers
and extreme conditions

Tourist

Someone who visits an area benefiting

the local economy

Local economy

How wealth is distributed and spent

locally

Honey pot site

A site of astounding beauty where

tourists visit

Congestion The overcrowding of an area or thing.
We say that it has become congested.
Pollution This is the destroying of the natural

environment, it can be from toxic
gasses or fumes or noise

Pedestrian flow

The movement of pedestrians

Pedestrian count

The counting of pedestrians to analyse
an area’s popularity or discover

patterns

Systematic Sampling

When you sample with a system such
as sampling every third person

Random Sampling

When you sample people from a
randomly generated number so you
could generate a number and pick that

person

11
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Environment Our natural surroundings
Climate The average weather condition over a
long time period
Attraction Something that encourages tourists to
visit an area.
Sustainable Tourism Tourism that does not ruin the

environment and can be theoretically
continued for ever

Sphere of Influence The distance people are prepared to
travel for a certain town or service
Trample zone The area outside the footpath that has

been walked on and in starting to erode

Aims

12
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To look at the Effects of tourism on The L ake District:

To find out whether tourism has increased congestion

To find out whether tourism has effected the land uses of the area

To find out whether tourism has increased the pedestrian flow

To find out the origin of tourism and how far most people ha ve travelled to get there
To find The Sphere of influence of the area

To rate the impact of tourism on the environment: Air pollution, Litter, Eye sores etc
To find out Specific details from both tourist and residents to be able to come to
conclusions

To find the effects of tourism on footpath erosion.

To see the effects causes and prevention techniques of footpath erosion.

Hypothesis

13
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14

The number of Pedestrians (majority who are tourists) will decrease with distance
from the centre of the town.

The town of Keswick will draw a large number of people in from a large number of
areas therefore it will have a large sphere of influence

The majority of the land use in Keswick will be touristic and residential.

The large majority of people will be tourists and may have travelled a long distance,
a majority would have driven, most will use services and the purpose of their visit
will be a family holiday.
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Sampling

Sampling is when you take a section of the population and survey them, in order to get
an idea of what the result would be if the whole population was surveyed, there are two
fair ways of doing this.

Systematic sampling

Systematic sampling is when you use a system involved in your sampl e for example
you either this does ensure fairness however is not random and can be considered in

some cases unfair. It involves first considering the right system to use for example on a

car tax disk survey you could use the system of checking every other car or every fifth
car.

Random Sampling

15

Random sampling is the process of generating random numbers either from a random
number table or generating random numbers on a calculator. This avoids unfairness or
bias. These numbers can be used to locate random map locations by drawing grid
overlay and numbering each grid, you then make sure these numbers can be randomly
generated, from these you can then locate several points on a map which can be used
for pedestrian counts and traffic counts. It can also be used for choosing people to
survey by for example generating a random number and waiting for that amount of
people or seconds to pass then asking the next person to fill out the survey. This is my
preferred method because it is far more random and shows a g reater representation of
the overall population.
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Methodoloqy

16

Traffic Count

A traffic count was conducted on the 9th of May 2007 at 10:30AM. This was carried

out in order to get an idea of the traffic flow in different points in Keswick. Fi rstly we
split Keswick up into 8 sections which we would sample separately, on each area
we drew grid a overlay and numbered the grid with certain numbers which we

ensured were in the range of our random number generator on our calculator (for
more information see sampling section above) we randomly generated three points.

Then we went to each of these points separately and stood on the edge of the
pavement and counted on a tally chart the amount of cars passing an imaginary line

in front of us. | continued doing this for five minutes. We used five minutes as a time
to let even the least populous area have enough time to let at least a few cars pass,

but yet on a fast road it won’t become difficult.

The Limitations were that when we carried out our traffic counts it was a rainy day
this means that many more people may have been driving than usual. Another
limitation is the possibility of human error in counting especially on busy roads

where it becomes difficult to keep up. Another limitation is that the ti me we did the
survey may not show a fair representation of the normal movement of traffic due to
different times of day for example commuters in and out and shopping, if we wanted

to be more accurate we should do the traffic count at three different times on three
different days and calculate averages in order to get a more accurate result.

Pedestrian Count

A Pedestrian count was conducted on 9th of May 2007 at 1:30PM. This was carried
out in order to get an idea of the areas that have large amounts of pe destrians and
notice any occurring patterns. Firstly we split Keswick up into 8 sections where we
generated three random points for each area (see traffic count section above for
more information on how this was done). We stood against the wall as far away
from the pavement edge as possible ensuring that people cannot pass behind you,
we then imagined a line, which everyone who passed was counted on a tally chart.
We continued this for five minutes. We did this for five minutes so that it allows
people to pass even in the least populous areas however it is possible to accurately
count people in busy areas.

The Limitations for this are, Firstly, the weather when we carried out this survey it
was raining this could have effected our results in that the rain m ay have caused
less people to walk than usual and either stay at home or drive. Secondly, human
error inaccuracies such as miscounts may have happened and thirdly as | stated in
traffic count section above the time of day may not fairly represent the usual
pedestrian, so again to attain more accurate results the survey should be taken at
three different times of day on three different days at different times of year. Finally
at the time we carried out the survey the Keswick

Jazz Festival 9"-13" of May was on, this means o1 1213146

more people could have been walking than normal. 0

Car Tax Disk Survey 31 0 7 0

The aim of this survey is to find where the vehicle -""‘;.‘_ LT g

came from; every car in the UK must be registered
DB
3 B
wAn




Oliver Simon Geography Fieldwork

17

for tax every 6 to 12 months this says the location they were taxed at giving a
usually reliable origin. We went to the car park just of Otley Road, for this survey we
used a systematic sampling system in which | surveyed the most northern car on
the Otley Road side of the car park and worked my way in a south easterly d irection
down the road. Some of the cars we came to had a tax disk that was bought over
the phone or Internet therefore didn’t have a place of taxing. We surveyed the first
ten cars in our direction.

The Limitations of this survey are firstly the location taxed may not necessarily be
the origin of the car as it may have been taxed outside its origin, be a hire car or
second hand and not have been re -taxed since it was bought. Secondly again the
weather was rainy this would have meant that a lot of people from the local area
who would have normally walked into town would have driven in to avoid getting
wet, meaning there may have been a lot more local people in the car park than
usual.

Questionnaire

We wrote up a survey which had a range of questions for a Keswick tourist helping
us to find their purpose of visit, home town, average expenditure, and activities they

take part in the area | took five surveys in the first randomly generated place of area

A and area B, in the surveys | picked people at the inte rval of 20 seconds after |
had completed my last survey and | asked the next person to pass after the time
had elapsed whether they would participate in a quick questionnaire in which |

asked them the questions and filled in the details on the questionnair e.

The Limitations of this is firstly, you cannot be guaranteed correct answers as
people may answer in correctly for their pride or due to lack of time to explain their
real reason. Secondly at the time of day we did the questionnaires certain people
may not have been their for example families with children or young working
professionals, therefore we may not get a fair representation of the population.

Land Use

As we had separated the town into the eight sections we had A3 sheets that
represented each area - showing every plot. We walked around the area colouring
in the sheet with the correct corresponding colour for the land use of each plot. We
did this for each plot and every area.

The limitations of this is firstly, our perception of a land use ma y be incorrect and we
may represent it wrongly on our map, secondly we may have been at the wrong
area of the map when we were surveying meaning the wrong plots may be in the
wrong places.

Services

As we recorded land use we also recorded on a specifica lly designed A4 sheet with
certain services, that we were likely to see on our surveying of Keswick we then had
to make a tally of the amount of them in locals, services or both column, This gave
us more specific information than our land use survey as to whether the service was
aimed at tourists, locals or both.

The limitations of this are, firstly our perception of weather a service is aimed at
tourist or locals may be incorrect, also the purpose of a service may be used by
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some tourists but not very many likewise some services may be used by a few
locals but not very many for example the information centre, may occasionally be
used by a local.

Environmental Quality

Firstly like | said before we had split Keswick up into eight sections and 3 random
points in each section, | went to each of the three random points in each of the eight
sections, at each one | rated the environment surrounding me on the following
categories: Housing layout, building materials, natural features, open spaces,
gardens, car parking, pavements, safety of kerbs, traffic noises, ease of road
crossing, litter and vandalism, we rated each one on a scale of -2 to 2, and totalled
each columns value and added up each column score getting a score between 24
and -24. We did this survey to test weather the environmental score would differ in
different parts of the town for example in the centre the environment may be worse
than the suburbs. We did this on a scale of -2 to 2 because it is the easiest scale to
be accurate on yet not difficult to see the difference between for example if we did
between 1 and 10 it would be difficult to rate accurately.

The limitations of this are, firstly that it is quite subjective in that someone may find

the area to be quiet while others may view the area to be loud, therefore the score
we get may not be entirely accurate. The score would vary at different times of day
for example in the mornings there are more traffic noises than the middle of the day,

if we wanted to be entirely accurate we should do this three random times a day
over a random 5 days in a year, this would get a lot closer to an accurate result.

Management Index

We went to each of the random points (see other sections above.) We rated the
area’s on the following categories: Street furniture, Bins, Double yellow parking,
Public Transport, Location of car parks, Buildings, Building heights and congestion,

on a scale of -2 to 2 we added up each column to get column totals, we then added

these up to get a management index score between 16 and -16 however to get a
top score everything has to be very good. We wanted to find out weather the

council’'s management of the area varied in different areas of the town, for example

in the centre of the town | would expect the councils management to be bette r than
in the suburbs due to the fact that tourists would visit the centre not the suburbs and

the, council would like to encourage tourists to the centre.

The limitations of this are firstly that again this is quite subjective and can be
influenced by opinions. Secondly, this may change at different times of day for
example the public transport may be worse at night than it was when we surveyed
the area, the congestion may change as well. , If we wanted to be entirely accurate
we should do this three random times a day over a random 5 days in a year, this
would get a lot closer to an accurate result.

Gradient

We Measured the Gradient at intervals of 100m in altitude. We stood two people of
equal height, 10 meters away with the one at the bottom aligning the clinometers
eye piece on the person at the tops eyes, you then either read the scale in the eye
piece or you get someone else to read of the scale on the exterior. We did this to
check weather the gradient effects the amount of footpath erosion
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The limitations of this are using someone else to set the clinometer to is not entirely
accurate instead we should have used a ranging pole, however we were unable to
do so due to health and safety.

Management
At every point at 100m in altitude intervals which again is a systematic system, |

rated the area’s management of footpath erosion and its suitability on a number of
categories, on a scale of 1-7 we added this up to get a score, we did this to see
whether the level of management decreases as you get towar ds the top as there is
less pressure due to many people only walking a part of the way not to the top of
the hill.

The limitations of this are that it is opinionated and subjective, you may write give it

a score that is not completely accurate. Another li mitation is that the, conditions for
example when we did the walk it was raining which means that we may have seen

the footpaths in their worse state or at another time they may have just been

landscaped and look pristine. In order to minimise inaccuracies we worked out the
average of everyone’s from our group’s scores, but to be even more accurate we
should have repeated the test at random intervals.

Landscape Quality Score

At every 100m in altitude interval we rated the surrounding area on certain natura |
and man made landscape features such as rivers lakes etc on a scale of 1 -7 and
after adding them up we used the formula of sum of total over number of variables
we then got our total score between 1 and seven. We did this to find out is the
landscape quality varies at different points in the walk especially as you get closer
to the top.

The Limitations of this are again that it is very subjective and may not be an
accurate representation of the landscape, secondly we did the walk on a rainy
miserable day meaning that our outlook on the landscape was probably nowhere
near as high as it would have been had it been a sunny beautiful day.

Width

Every one hundred meters in altitude we stopped to measure the footpath width, we
measured the section we identifie d to be the footpath this was the section that we
thought the national park authorities intended to be the footpath not including the
trample zone we used a tape measure to then measure across and we then noted it
down. We did this to find out whether the footpath is wider at the top or bottom of
the walk

The Limitations of this are, Firstly, where the footpath begins and ends can be quite
subjective as often it is not clear where the footpath is actually meant to start and
end due to the amount of footpath erosion. Secondly, the point at we measured
may not be a fair representation for the whole one hundred metres in altitude as at
the point we measured could have been different from the rest of the one hundred
metres, if we were to be completely accurate we would have collected data every
10 meters in altitude hence representing the whole walk in a more fair way.

Depth
Again we went to a point every one hundred meters in altitude, we divided the width

measurement by ten to get 10 equal points along the w idth of the footpath, we then
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tightened the tape measure to each side of the footpath and at each of the 10
points across the width we used a one metre
ruler to measure the depth, we noted this
down for each of the 10 points. We did this to
find out how the footpath depths vary at
different points on the footpath.

The Limitations of this are the depth could
not be completely accurate because it was
difficult to ensure we had exactly the right
depth.

Trample zone
We measured the trample zone at our |
one hundred metre intervals, we found [+
identified the trample zones on either side of [
the footpath these are the areas that are not
strictly footpaths but have still been worn
down by people walking on them we
measured the distance that the one on either
side covers beyond the path and noted it
down. We did this to find out whether
footpath erosion is worse at certain points of the path.

The limitations of this are firstly distinguishing the trample zone is quite subjective
as there are sometimes sections that are only worn down slightly and you have to
decide whether to include them or not. To be completely accurate you would have
to measure up to any area even if it is only slightly worn down.
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Analysis

Human Analysis

Spearman’s Rank showing the correlation between the distance from
the CBD and the environmental quality

The result shows a negative correlation of -0.42, so as the distance from the CBD
increases the environmental score gets less, so in theory the further from the centre you
go the worse the quality of the environment. There are likely several causes for this. Firstly
because tourists usually only visit the centre of the town, the councils usually maintain the
centre more, they put more bins in, have more rubbish patrols, have pedestrians areas
and more green areas. The further away areas usually have residential housing and
therefore do not have tourists or pedestrians. This proves the theory that tourism improves
the council’s maintenance of a certain areas

Survey Results

The surveys show many things about the people who live or visit Keswick. The first
question we asked people was what the purpose of their visit to Keswick was, the result
was more than half the people we surveyed were on holiday when we went it was not the
holidays but it was the high season. The second question we asked was the age range.
This was almost evenly spread through the categories showing that Keswick has a range
of visitors of all age groups. We wrote down the gender of the people we surveyed, we got
a higher proportion of females than male; this is more likely because they were keener to
participate in our survey than the actual proportion of visitors in Keswick. We then asked
where they had traveled from, for this we got a range of answers showin g that Keswick
appeals to all social classes as a holiday destination, although the highest proportion at
30% were local we had 10% from London, 8% from Cheshire 15% from Yorkshire and 5%
from oversees. This shows the diversity of visitors to the area. We then asked
approximately how many miles they had traveled, we found out that 70% of people had
traveled more than 50 miles, proving our theory that people travel from great distances to
visit the lake district. The next question we asked was what mode of t ransport they used,
although in my theory it said that 90% of visitors drive to the lake district we got 70%, this
is most likely due to the time of year and day, the fact that it was not peak season. We
them asked what they had purchased today, we had jus t under 10% buying camping
equipment, although not as high as we expected it still shows the reason why many
people visit the Lake District. Obviously the highest proportion was food, but lots of people
bought entertainment and souvenirs as well. Then next question was the length of their
stay. We had the highest amount at 43% staying for less than a day we also had 28%
staying for a week or more, this is because a lot of people have travelled from great
distances, it would be stupid to spend a short time i n the Lake District. We next asked
people to rate the traffic congestion in the area on a scale of 1 to 5, 5 being very positive
and 1 being very negative 3 being neither. The votes were quite evenly spread out. | got
an average of 2.7 so very slightly neg ative. Although you would expect this to be very
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negative, it was not high season and a lot of the town is main roads or is pedestrianised.
Also lots of people had travelled from big cities and are used too much worse traffic so it is
not bad compared to what they are used to. Next | got people to rate the local
employment, again this was quite spread out and got an average vote of 3.8 showing that
it was positive, this is likely because it is almost the mid season and there is lots of
employment during the tourist months. We then got people to rate the public transport in
the area, this gave us an average rating of 2.3 negative this is likely because so many
people drive to the lake district the council don’t bother maintaining the public transport as
much as they would if more tourists arrived by public transport. We then got people to rate
the pollution this had an average vote of 2.2 this is negative and likely because the
majority of the voters who voted negative live in the countryside and are not used to the
pollution in towns | would presume that most of the people who said it was positive were
from the big cities. We then got them to rate the house prices we got an average vote of
1.4 this means it was very negative. This links back to my theory wher e | said that tourists
buying second homes put the prices up, this | assume is the case here as well. Finally we
got people to rate the local entertainment, we got an average rating of 4.2 meaning that it
was positive. The council and local government obvi ously need tourism as it makes up
70% of their industry, therefore they are obliged to create entertainment for the tourists to
keep them coming.

Traffic Count Proportional Arrows

The proportional arrows show the traffic coming in to the town centre and out of the town.
The most noticeable pattern is that there is more traffic coming in to the town from the
north than the south, this is because there is a main road entering the town this way, most
of the traffic is leaving the town through the east this i s possibly because of a one way
system. In general there are more cars going into the centre than out this shows that the
remaining must be staying in the town.

Proportional faces Environmental Quality

These show the environmental quality using a propor tional face, the larger the face the
better the environment in that area. The first pattern is that the best environment is in the
east and the northern parts of the town, this is most likely because these are more rural
residential areas than built up tou rist areas, although these areas may not be maintained
as well by the council, by there being less people in these areas there will be less rubbish,
graffiti and vandalism and more green spaces, people walking into town and less noise.

Graph showing the correlation between amount of pedestrians and
distance from the CBD

This graph shows an obvious negative correlation between the amount of pedestrians and
the distance from the centre of the town although the increase is not huge, you can clearly
see it. In theory the graph shows that the closer you are to the CBD the more pedestrians
you should expect to see. There are to evident outliers in the data which | have circled,
this is most likely a popular area with tourists, or an area where lots of people con gregate
such as an out of town shopping mall or at certain times it could be a church or a school.
The reason why the closer to the CBD you are the more pedestrians is because firstly
apart from the centre the rest of Keswick is mostly residential (seen lo cated pie charts.)
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Therefore the centre is the only area that shoppers and tourists would visit, they make up
a large proportion of pedestrians in Keswick

Land Use Data — Located Pie Charts

The land use data tells us a lot about Keswick. The first thing you notice is that towards the
east virtually everything is residential, most of the industrial is in the south and most of the
retail is in the centre. From this you can tell the centre of the town is around D and C
because these are the areas with the le ast residential and the most retail and tourist
attractions. This would be the area that the tourists would choose to visit and stay in.
Whereas people who live in Keswick would most likely live in F, G, B, A, E or H as these
have a large proportion of com munity services, and residential plots, they are also in close
proximity of the CBD where there is work in the tourist sector or in area E and some other
areas there is industrial plots which would be ideal places to work. In the north area A has
a large number of community services, this is ideal because of its proximity to the centre
so that tourists can easily get there, the locals even try to benefit from it by starting tourist
attractions in the area. Area F has the highest number of tourist attraction s this is likely
because of its proximity to the CBD but it is also just out of the PLVI meaning that the
running costs are slightly less.

Spearman’s rank showing the correlation between distance from the
CBD and the amount of traffic both in and out.

These are presented as two separate spearman’s ranks however both got very similar
results. The first one showing traffic into town had a very strong negative correlation at —
0.74. In theory this means that the closer to the CBD you are the more traffic tow ards the
town you will see, this is because a lot of the areas we surveyed away from the centre
were small residential roads which had barely any traffic, however when you get more
central there were main roads and large pay and display car parks near the centre. For the
traffic out of town | got a -0.72 correlation showing similar things to the first one and in
theory meaning that the closer to the CBD you are the more traffic theoretically you should
see. Another reason for this is that the main transport to the Lake District is by car at 90%,
the tourists will be staying in central parts of Keswick usually not in the residential areas
moreover, people who live in the residential areas will be likely to walk into the centre
because of the proximity, Keswick is a very small town.

Physical Analysis

Transects

The transects show the increase in footpath erosion as the Altitude, Gradient and distance
from car park increase. It also shows that with the exception of the last one that the
footpath erosion is inc reasing. It also shows that in different parts of the footpath there are
different depths, in the case of site 3.4 the path goes down and then flat for about a meter
either side before going down, this shows that the most erosion is in the middle of the
footpath. Site 4.4 shows there are a gully or rut in the middle of the footpath. This shows
that people walk either side of the footpath but not in the middle. The fact that the depth is
increasing relates back to the theory that footpath erosion increases w ith gradient as each
transect is increasing in gradient. There are other factors which could have caused this;
due to the high altitude there will likely be more wind and rain causing the soil to be worse
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quality because the nutrients are washed away meani ng that the quality of vegetation is
worse increasing the erosion. There is also the problem of freezing increasing, as you get
higher up. Moreover, the amount of management is higher at the bottom of the walk as
you get towards the top there is virtually no management. However the recreational
pressure would be a lot less at the lower points than the higher points due to the number
of people not completing the walk.

Graph showing the correlation between altitude and average slope
gradient

This graph shows all the points almost exactly on the line showing an almost perfect
positive correlation between the altitude and the gradient of the slope. This is because the
footpath erosion is greatest at the top of the slope and starts to smooth out as you get
towards the lower parts of the hill this is because streams and other systems smooth and
flatten it out in lower parts. It is also because of the adverse weather conditions higher up
causing more footpath erosion.

Graph showing the relationship between the distance from the car park
and the amount of footpath erosion

This scatter graph shows a Positive gradient as the distance from the car park increases,
the amount of footpath erosion increases. This is because footpath erosion increases with
altitude due to adverse weather conditions, but also the decreasing amounts of

management as you get further from the car park. This is explained in more detail above.

Graph showing the correlation between the management amount and
the altitude

This scatter graph shows a strong negative correlation between the management index
and the altitude. As you increase the altitude the management index decreases. So in
theory as you go higher up the council maintain the footpath less and less. This is because
less people walk to the top than half way; the council makes the assumption that it is more
worthwhile to maintain the lower parts of the walk than the higher parts. Also it is harder for
the council to maintain the higher parts, as getting heavy rocks to the top of the slope
would require a lot more labour than bringing them to the lower slopes therefore it is not a
cost effective solution to manage the footpath erosion on the higher slopes.
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Evaluation

In my project many things went right however many things di dn’t. Some examples of
things that went wrong were the weather and the pedestrian count which shows no
correlation. Some examples of things that went well are the transects and the traffic count
correlation. If | were to start again there would be things t hat | would do differently in order
to get more accurate and concise results.

Many things went well in my project nearly all the results we got worked in some way. The
data presentation section effectively and clearly shows the results allowing you to see the
patterns. From my transects you can clearly see the increase in footpath erosion, the
increasing trample zone and any patterns such as gulley’s which you would expect, this
linked back to my theory which states that increasing gradient and increasing altitude
increase the amount of erosion. Also my average gradient when compared to altitude
showed a strong positive correlation linking back to my theory, where | said that that an
increase in altitude would likely cause an increase in gradient due to the weathering and
other factors. Also in the physical section my graph that shows the management amount
compared to the gradient which showed that the management amount did decrease with
the altitude which is what | had expected because, they would make the assumption that
most people would not walk to the top and so do not maintain it as well, also the cost of
getting materials to manage footpath erosion higher up is significantly more. In terms of
the physical section there were many successes, one success was the spearman’s rank
which showed the relationship between distance from the CBD and the amount of traffic
both in and out, this showed a strong correlation like | expected in my theory. Also my
located pie charts show that closer to the centre there is far more than in the east.
Moreover my proportional traffic arrows show that there is more traffic going in than out in
most points. My land use located pies clearly show the pattern of residential in the
outskirts and retail and touristic In the CBD this is what | would have expected and
moreover the spearman’s rank that relates the environmental score to the distance from
the CBD this also shows what | would have expected which is that the further you get
from the centre the more worse the environment, this is because no tourists visit these
areas and the councils think that it is better to maintain the touristy areas hence attracting
more tourists and more money.

There were also things that went wrong. Firstly | could go on about the whether which
caused me to have to miss out several points in Keswick and also may have caused some
anomalies in both Cat Bells and Keswick. Although my data was accurate and in some
cases | got almost perfect coloration. There were a few instances where the data did not
prove my case firstly in the pedestrian count although it successfully produced a scatter
graph when | tried to put it into spearman’s rank | got quite a low score of around 0.3,
when you compare this to the rank for traffic count which | got 0.72 it seems that the data
must have some anomaly in it. | have come to the conclusion that this anomaly must have
been caused by the adverse whether conditions, meaning there were less people walking
and more people in shops or driving. Also because the weather was ch angeable at one
pedestrian count it could be pouring down with rain meaning people were taking refuge in
shops and some times it could be perfectly dry meaning people were walking. This is likely
to have caused us not to get the result we would have liked.

If | were to redo the project | would attempt to attain more accuracy by repeat tests over

several days, at completely random times, | would try and do each reading 5 times so that
| could get an idea of the standard deviation and find the anomalies, get ting a more
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accurate average. In Cat Bells | would also retake reading however | think this is only
necessary to do 3 times.
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